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I Analyzing v"2’s position — (W7 MWI) 7 as the minimum for pw1Tp
a  RP11 - the default assumption about for how little a girl would accept pwrmp
i note: a family may have a higher “price tag” (e.g. 'Ry "1 n21)
ii  challenge: this is only meaningful if an agent accepted for her or she received it “sight unseen” (e.g. at night)
iii  however: if she accepted anything (more than a nv119) — should be valid
1 note: this posits (nearly) no dispute between n”a/v"a
b  qov "1 follows 'or "7’s ruling in re: definition of qo3
i if the context is XN 8T — ¥ qUI (more valuable currency model)
ii  if the context is 13297 — NN qO3 (1/8 the value)
iii ~ therefore: since 902 here is Xn»MRT (as per NM*p::NN’p) — must be lowest significant ™% coin — 7177
1 challenges to ruling: (cases where qo3 is stipulated in "m0 and we nonetheless use 1171 qo2)
@) praovay(v.1)
(i) In that case: we insist on 2 silver pieces as the base of the claim
(if) Answer: juxtaposition with 093 establishes a minimum of 2
(b) 2w Y0 5159m. (v. 2)
(i) In that case: we see that copper coins may be used
(if) Answer: qoan expands to include copper
(c) w7 pr7o: - may be redeemed with o™
(i) Answer: q03::q03 from V"N NN
(d) (a5 pwrrp (vv. 3-4)
(i) Challenge: does this entire ruling of 'or "1 follow v"a?
iv  Reformulation of ruling: all set amounts of money in nmn (e.g. 30 for ox killing slave, 5 for 120 1719) are ™% qo2
1 Challenge: already taught in nywn (in box, above)
2 Answer: teaches 2" half — that all 13277 902 is NN qO>
(a) For instance: ruling that if someone punches another in the ear, he owes him a ybo —
(i) Meaning:is ¥2 a v, not 4 oy
¢ 9" follows ’ptn’s explanation of 902 1) of an 2y NnR
i explanation: she pays her way out (pro-rated based on her purchase price) and master must accept it —v. 5
1 therefore: must be more than a nv119 (otherwise, there’s nothing to diminish)
2 note: since that possibility must be there, purchase price must be more than a nv118
(a) akin: to w», the potential for which must be present
3 Note: ", therefore, must infer PP from N1y R
4 Additionally: since the amount is greater than a V119, we raise it to the lowest “significant” coin — 917
d X171 reason is to keep YR1w’ na from being seen as “cheap”
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